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Which of the following is differential
equation of second order?
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Write de Broglie hypothesis. Calculate the
wavelength of a 1 eV electron.

3.

'[r:
1+2?JT

dinger Wave

ation d;
wave equations differ frq

equation. HoW
m the ordinary |

et

dx2

P7/443

7/448
( ContiﬂMT

¢S

(5)

7 PR TR GFIW TS TSI/ @ 2AIPT FRY
AR 7 SO &R ES AfSe T | T W
G RME I CRFH SO ARFeIR ARy
R 4Rk 2 1+2%+2%=6

Can de Broglie wave be represented by a plane
monochromatic wave? Justify your answer.
How is a moving particle compatible with
wave packet picture?
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Define ‘Hermitian operator’. Show that
eigenvalues of Hermitian operators are real.
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Define gradient, divergence and curl. Are
these vector quantities? Prove that V x'v% =0,
if the scalar ¢ satisfies V2¢ =0,
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a= Ssin2t{ +4cost}' ‘
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The acceleration of a particle at any timé
t20is given by

a =5sin2t{ +4cost j |
Find the velocity ang displacement at any
time assuming thej, initial valyeg to be zero-
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